ALLOTEC

Investment Casting
B IREESE 2023



The advantage of “investment casting lost wax process” :
Precise tolerance, Cost-effective on both material and machining
Materials of usage :
® Including stainless steel , carbon steels, alloy steels,

aluminum alloy, etc....
e Titanium alloy : Except that the aforementioned material quality,
for will use on the material in accordance to the future high strength,
light weight, the corrosion-resisting tendency , our company has
researched and developed high tech “the Titanium alloy” the material
quality utilization on the product, this technology domain of in the
precision casting will be other same competitor’ leader .
Should you have any questions ?

Please do not hesitate to let us know .



AO2

Forccl
A 28.4 28.4
- a 25.8 25.8
\ B 14.8 14.8
b 12.6 12.6
/ @c 25.4 28.6
b ‘ D 5.5 55
B { H 48.2 48.2
\J W 33.5 33.5
1 X° 6.5° 6.5°
H wi 120g 110g
AO3 ve
Fork Crown -
D [ | A 26.7 26.7
/Ei a 23.5 23.5
B 19.1 19.1
b 16.1 16.1
?C 25.4 28.6
D 5.7 5.7
H 64 64
w 41.8 41.8
X° 3.66° 3.66°
wt. 1609 1509
Fork Crown
—TDO [ A04-1 Y A04-2 T A26-1 T A26-2
T A 28 28 28 28
\ Jﬂ B 19.3 19.3 20 20
- ?C 25.4 28.6 25.4 28.6
B D 5.5 5.5 5.5 5.5
§7 H 59 59 59 59
w w 39 39 39 39
] Xo e e e e
o N 57° 57°
X — H \Y.J__._ wit. 130g || 120g 130g 120g

AO6

Fork Crown
28 28
20 20
25.4 28.6
5.5 5.5
70 70
50 50
3.2° 3.2°
115¢g 1509

AO7

Fork Crown

2C MODEL] A07-1 | A07-2

RA 9.2 9.2

RA RB 4 4

jolel 25.4 28.6

D 55 55

H 81.4 81.4

W 60 60

Wi. 185 150

RB g [¢]

(2 ALLOTEC )




Al0

OD A:lO-:l A10-2
Fork Crown = 8 o
B 20 20
@C 25.4 28.6
D 5.5 5.5
H 72 72
W 51 51
XO 30 30
Wt. 210g 200g
Fork Crown MOD A11-1 | A11-2
A 28 28
B 20 20
@c 25.4 28.6
D 5.5 5.5
H 60.7 60.7
W 43 43
X° 5.69° 5.69°
Y°© 5.71° 5.71°
Wi. 1059 95g

MIOD A13-1 | A13-2
A 30 30
B 20 20
ac 25.4 28.6
D 5.5 5.5
H 91.5 91.5
w 70 70
X° 1.3° 1.3°
Wt. 203g 205g
Fork Crown MODEL] A14-1 | A14-2
B_ A 28 28
\ B 20 20
! A @c 25.4 28.6
] D 5.5 5.5
H 70 70
w 50 50
X° 2.3° 2.3°
Wi 158g 131g

MOD A15-1 | A15-2
A 29.5 29.5
B 18.5 18.5
ac 25.4 28.6
D 5.5 5.5
w 33 33
X° 4.43° 4.43°
Wit. 1509 1409

('3 ALLOTEC )




A16/Al7

Fork Crown

5 A 28 28 28 28
B 20 20 20 20

C 25.4 28.6 25.4 28.6
D 5.5 5.5 5.5 5.5
H 70 70 64 64
w 50 50 42 42
3.2° 3.2° 3° 3°

158g 135g 110g 108g

MOD

A 28 28
B 20 20

gc 25.4 28.6
H 72.2 72.2
w 52 52
X °|| 3.35° 3.35°
Y° 5.7° 5.7°
Wi 169g 1469

JAM RS

Fork Crown MOD A18-1 | A18-2

A 24 24

ac 25.4 28.6
D 5.5 5.5
H 63.5 63.5
W 43 43
X° 3° 3°
W, 100g 90g

xo

A28

A28 H oo ras {1252

A 24 24

agc 25.4 28.6
D 5.5 5.5
H 63.5 63.5
W 43 43
X© 38 38
W 100g 90g

Fork Crown o0 m

A 28 28
B 20 20

ac 25.4 28.6
D 5.5 5.5
H 71 71
W 53 53
X° 4.26° 4.26°
Wt 1869 192g

(4 ALLOTEC)




0D
A 28 28
B 20 20
aC 25.4 28.6
D 5.5 5.5
H 61.68 61.68
w 40 40
X° 2.43° 2.43°
W. 188g 1629

A22/A24

Fork CIEE

28 28 28 28

20 20 20 20

25.4 28.6 25.4 28.6

55 5.5 55 55

83 83 83 83

61 61 61 61

2.56° 2.56° 2.56° 2.56°
7° 7°

185g 162g 185g 162g

Al120

Fork Crown MODEL] A120-1 |A120-2

. A 28 28
B 20 20

agc 25.4 28.6
D 5.5 5.5

H 64.5 64.5
W 43 43

X° 3.7° 3.7°

v° 7° 7°

Wi. 125g 1219

Al70
Fork Crown

VIOD

A 28 28
B 20 20

[]e] 25.4 28.6
D 55 5.5
H 57.87 57.87
W 36 36
X° 4° 4°
Wt 180g 1569

A210

Fork Crown MODELA210-1f A210.

A 28 28
a 24.9 24.9
B 20 20
b 16.9 16.9

gc 25.4 28.6
D 55 55
W 42 42
X° 3.5° 3.5°
Wit 1229 1329

(5 ALLOTEC )




DO2

Fork End

Fork End

D04

Fork End

@A 19 19 19
7B 16 16 16
C 8.4 8.4 8.4
D 10 10 10
M M5X0.8 | |2-M5X0.8
X0 e e T
Y° 44 44 44
Wt. 759 759 759

D05

Fork End

A 16
7B 13.5
D 9
Y©° 50°
Wt. 669

(6 ALLOTEC )




D06

Fork End
17.5 17.5
14.9 14.9
10 10
45 45
M5X0.8 |[2-M5X0.8
769 88g

Fork End m

33.7
18.6

M5X0.8
80
28°
1269

D10

Fork End

[D10-2
A 17.3 17.3 17.3
B 11 11 11
D 9 9 9
M M5X0.8 | [2-M5X0.8
Y° 45° 45° 45°

Wit. 60g 70g 80g

D11/D20

Fork End
'MODELY D11-1 Y D20 [ D20-2
gA 19.6 17 17 17
7B 16 13.9 13.9 13.9
M D 10 9 9 9
M M5X0.8 M5X0.8 || 2-M5X0.8
X° 4° 4° 4° 4°
YO 30 70 70 70
o Wit. 84g 849 899 949

D18

Fork End

M 'MODELY D18 ¥ D18-1Y D182}

DA 15.4 15.4 15.4
[t 7B 105 10.5 105
D 9 9 9
M M5X0.8 || 2-M5X0.8
XO 40 40 40
Y° 50° 50° 50°
Wt. 669 729 789

Yo

(7 ALLOTEC )




A 20.8
B 15
D 10
M M5X0.8
v° 45°
Wi. 429

15.5
@ B 13 13 13
D 9 9 9
M M5X0.8 || 2-M5X0.8
XO 4 o 4 o 4 o
Y° 45° 45° 45°
Wt. 459 51g 579

D14/D17

Fork End

19.6 19.6 19.6 19.6
@ B 15.5 15 15 15
D 9 10 10 10
M 2-M5X0.8 M5X0.8 || 2-M5X0.8
X° 4° 4° 4°
v° 20° 20° 20° 20°
Wt. 459 459 51g 579

A 20
B 17
D 10
W, 569

D16

Fork End

DA 135
7B 10

D 10

M M5X0.8
X° 3.5°
Y° 45°
Wt. 45g

(8 ALLOTEC )




MODELY D21 Y D212

A 245 24.5
B 22 22

D 15.1 15.1
M1 2-M5X0.8
M2 M15X1.5 || M15X1.5
OE 23.5 23.5
Wit. 1329 1419

'MODELY D23 Y D23-1 Y D232

15.5 15.5 15.5

13 13 13

9 9 9

M5X0.8 2-M5X0.8

4° 4° 4°

45° 45° 45°

45¢g 51g 589

D26/27
Fork End
17 17 15

oA 17 15 15
o8B 14 14 14 12 12 12
2C  |12.1/15.1|12.1/15.1|12.1115.1|12.1/15.1|[12.1/15.1|12.1/15.1
oD |19.2/21.2|119.2121.2\19.2121 2|19.2121 2|19 .2/21 2|19 2721 2
127 5| [M12X7.5|[MA2X7 5|[MA2XT.5|[M12X1.5|M12X1.5
M1 |lM15x1.5/|M15X1.5[M15X1.5||M15X1.5/[M15X1.5||M15X1.5
M5X0.8 || 2-M5X0.8 M5X0.8 || 2-M5X0.8
4 4 4
1259 || 131g || 138g | 1189 || 1249 | 131g

Fork End I'_D3o_¥ D30-1 ¥ D302

17 17 17

14 14 14
12.1/15.1 |[ 12.1/15.1 || 12.1/15.1
19.2/21.2 |[ 19.2/21.2 | 19.2/21.2

11 11 11

235 23.5 23.5
M5X0.8 | 2-M5X0.8
M12X1.5 || M12X1.5 || M12X1.5
M15X1.5 || M15X1.5 || M15X1.5

151g 1599 1669
160 160 160
2 [B1-2
@B oA 17 17 17
AH OB 14 14 14
| D 10 10 10
H 11 11 11
L 23.5 23.5 23.5
= L M M5X0.8 |[2-M5X0.8
5 Ye 45° 45° 45°
*\ W 90g 98¢ 106g
Rotor 160 160 160
M Y° D

(9 ALLOTEC )




D34

[MODELY D34 ¥ D34-1 ¥ D342

Fork End oA 22.1 22.1 22.1
A B 19 19 19
OB @C_ |[12.4/15.1 || 12.4/15.1 || 12.4/15.1
i @D |[19.2/21.2 | 19.2121.2 | 19.21212
H 16.7 16.7 16.7
L 32 32 32
?\ M1 M5X0.8 || 2-M5X0.8
¢ Mo || M12X15 [ "M12X1.5 | M12X1.5
® cac[ M2 M15X1.5 || M15X15 || M15X1.5
oD 7 WH. 2169 225¢g 235¢g
Rotor 180 180 180
oA oA 19 19 19
o8 oB 16 16 16
W @C _ |[12.4/15.1 || 12.4/15.1 || 12.1/15.1
| @D |[19.2121.2 [ 19.2121.2 | 19.21212
= H 16.7 16.7 16.7
@ L 32 32 32
. M1 M5X0.8 | 2-M5X0.8
f vz || M12X15 [T M12X15 | M12X15
] oc] H—v M15X1.5 |v1|1953x1_5 M15X1.5
Wt 1849 g 203g
M1 @D =5 Rotor 180 180 180

DA

19.6 19.6 19.6
16.2 16.2 16.2
ac 12.1/15.1 || 12.1/15.1 || 12.1/15.1
@D 19.2/21.2 || 19.2/21.2 || 19.2/21.2
11 11 11
23.5 23.5 23.5
M5X0.8 2-M5X0.8
M12X1.5 || M12X1.5 || M12X1.5
M15X1.5 || M15X1.5 || M15X1.5

3° 3° 3°
. 134g 143g 153g
Rotor || 160 160 160
Dropout Nut
oA 14 14
2B 12.5 12.5
H 12 17.7
L 1.5 7.2
Wit 11g 179
A 32.6
D 9.2
Wt. 759

(10 ALLOTEC )




oA 32.6
2B 12.1/15.1
M12X1.5
M M15X1.5
Wi. 1259

Fork End
[ D40 Y D40-1Y D40-2
17 17 17
13 13 13
16 16 16
215 215 215
15° 15° 15°
M5X0.8_|| 2-M5X0.8
M4X0.7 || M4X0.7 || M4X0.7
869 95g 1049
Fork End
H
: PMODELY D41
N C 16
B 2D 214
[ ] H E 12
oF 12.1
- OF @D H 14
M2 || M12x15
Wi, 80g

D42

Fork End

MODELY D42
C 16
@D 214
E 12
OIF 15.1
M2 M15X1.5
Wi. 639

ForkIEI PMODELY. D120

A 15.5
oB 13
D 9
X e
Y° 40°
Wi. 429

(11 ALLOTEC)




D310

Fork End

BO1l

Seat Clamp

BO2

Seat Clamp

B0O3/B04

Seat Clamp

DA 14 14

14
2B 11.1 11.1 11.1
D 9 9 9
M M5X0.8 || 2-M5X0.8
X° 4° 4° 4°
ve 45° 45° 45°
Wt. 41g 469 529

A 23.67]|| 23.67 23.67
B 7 7 7

D 9 9 9

M M5X0.8 |[2-M5X0.8
X° 4° 4° 4°

Ye 45° 45° 45°

M 459 51g 459

MODEL

oA 29.4
2B 31.8
C 22
@D 6.3
E 16
F 11
Wt. 60g

A 26.8 27.2
2B 29.6 28.6
C 22 22
@D 8.3 8.3
E 10 10

Wit. 50g 50g

26.2 26.8 29.8 30.4
28.6 29.6 31.8 32.8
20 20 21 21
8.3 8.3 8.3 8.3
10 10 10 10
409 409 489 489

(12 ALLOTEC )




BO5/B25
Seat Clamp o0 @A

MODEL
dA

26.2 29.8

gB 28.6 31.8
C 12 12
@D 8.3 8.3
gG 5.2 5.2

Wit. 50g 50g

gA

26.8 26.8 21
28.6 29.8 23
20 20 18
8.3 8.3 8.3
22g 22g 25¢g

BO9/B11
Seat Clamp

onl
=
} oo
\
\/
0B

Sléa%I.LQ/BlG/BlQ/Bl?/BlS/BZB

MODEL'B10 | B16 | B19 1 B17 [ B18 | B23 | B24 |

MODEL
DA 26.8
7B 28.6
c 23
@D 8.3
@ E 25.4
X° 69°/73.5°176°/79°
Wit. 48g
MODEL] B09-1 | B11
TA 26.8 29.8
2B 28.6 31.8
c 21.5 21.5
@D 8.3 8.3
Wi, 28g 28g

27.2
@B 286 286 286 286 286 286 28.6
C 20 20 20 20 20 20 20
@ D 83 |83 [83 |83 |83 |83 |83
o E 254 || 25.4 | 254 | 286 | 286 | 286 | 286
D F 14 14 14 14 14 14 14
01 76° || 76° [ 80° | 76° | 73° | 75.5°| 74.5°
62 51° [ 45° | 54° |51° | 40° | 46° | 43°
Wi. 65¢g 65g | 659 | 659 65g 65g | 659

(13 ALLOTEC )




Seat Clamp

@A
r——r @c BA 26.5
! 7B 29.8

T —~
—|-( gc 6.3
Wt. 23g

2B
- 13/B14
Seat Clamp ' MoDELTBL3-1TB13-2
A

DA

@ 268 || 272 || 294 | 29.8 | 31.8
7B 28.6 | 298 || 31.8 | 324 || 349
, " @D 8.2 8.2 8.2 8.2 8.2
U\ LAY W, 209 || _20g || 20g || 20g || 20g
H @D
N
7B

B15/B20/B22

Seat Clamp B15-1 | B20 Y B22-1
27.2 29.4 27.2
< 28.6 31.8 29.8
8.3 8.3 8.3
32g 35¢ 33g
\ 7B
Seat Clamp ac ODEL
— A 14.7
= b 7B 8.3

L\ B gcC 12.5
W rrr W, 24g
RA )

[%]2]
527 on
Seaf Lug .
f
P ]

28 28.6
[ 20

) @D @D 8.3

! ?E 28.6
X° 69/73.5/75.5177.5/82.5
Wi. 579

(14 ALLOTEC)




B28

Seaf Lug MODEL

3 A 272 || 272 | 272 || 27.2 || 27.2 || 27.2

2 B 28.6 || 28.6 | 28.6 | 28.6 | 28.6 || 28.6
c 22 22 22 22 22 22

@ D 83 |83 |83 |83 |83 |83

@ E 25.4 ||25.4 [ 254 | 254 | 25.4 | 25.4

DF 10.5 [ 10.5 [ 10.5 | 10.5 | 10.5 |[10.5
91 73° || 76° | 70.5°| 76° | 76° | 73°
82 46° || 49° | 55° | 45° | 51° | 42°
Wi. 85¢g 85¢g 85¢g 85¢g 85¢g 85¢g

B29
Seat Binder f B29-1 | B29-2 |

14.3 15.9
11 11
6.5 6.5
19.5 19.5
109 109

Seat Clamp

- oA 268 | 298 | 27.2
| o8B 286 || 31.8 | 298
== C 195 || 21 21
o0 < oD 65 | 65 | 65
oF 11 1 1

7B Wit. 229 22g 22g

B31

Seat Clamp
C
MODEL [ B31-1 [B31-2 [ B31-3 [ B31-4
DA 26.8 29.8 31.8 27.2
2B 28.6 31.8 34.9 29.8
@D|QE ({C——) C 21.5 21.8 23 23

z |
< @D 12 12 12 12
(%] 8.3 8.3 8.3 8.3
Wt. 32g 349 36g 369
| 2B

MODEL

BA 27.2

7B 28.6
C 19.5

3D 8.3

G E 25.4
X° 705°1735°76.5°
Wt. 579

(15 ALLOTEC )




JE

-

Seaf Lug

2B |

Y
/)

DA
C
-
W
OE - !
xell |

L_es |
B130/B131/B140/B150/B151/B16(

@D

MODEL
g A

MODEL

B120/B126 on
Seaf Lug

cl,_
| oD

B120 B126

BA 27.2 27.2

7B 28.6 28.6
C 19.5 19.5

@D 8.3 8.3

P E 28.6 28.6
X° 05735765 || 105735765
Wt 579 579

27.2 27.2 27.2 294 || 27.2 || 29.4

g B 28.6 29.8 28.6 31.8 || 28.6 || 31.8
C 19.5 215 20 215 || 21.5 || 235
2 D 8.3 8.3 8.3 8.3 8.3 8.3
g E 25.4 254 | 28.6 28.6 || 31.8 | 31.8

X° TEMSISNTIRY|| 74.5° |\ TEMSISMIYRING) 73.5°/89°( 78.8° || 73°/81°
Wi. 609 769 65¢g 709 || 769 769

s[}3%70/8180/8190

B181/B191 .
Seat Clamp c

V]

K

B

B183/B193
Seat Clamp A -

MODEL

%)
%)
=

%__

Ja0

2D

14

oA
I MODEL
= DA 27.2 27.2 29.4
_@ oB 28.6 28.6 31.8
c 19.5 20 215
| @D 8.3 8.3 8.3
I oE 25.4 28.6 28.6
x°  |[735°75°079° || 78°76°178° | 73.5°
Wt. 579 609 659
2B |
A
| MODEL
| %\4_ _? oA 27.2 29.4
, oB 28.6 31.8
oD c 215 215
7 @D 8.3 8.3
/{L W, 559 61g

DA 27.2 29.4
2B 28.6 31.8
Cc 20 20
@D 8.3 8.3
Wt. 699 789

(16 ALLOTEC )




B210/B220

Sea{ LUQ g A 27.2 | 27.2
@B 28.6 || 28.6
C 21.5 | 21.5
@ D 8.3 8.3
g E 254 | 28.6
D e 236 | 26.4
X° 725°75°078°|| 73.5°
Wi. 82¢g 979

B212/B222

Seaf Lug 2 A 27.2 | 27.2
[ =t o fes
D)oD 2D 83 | 83
J o E 25.4 | 28.6
ZE oF 16 16
o1 | 91 73°30°][73°30°
62 49°10°49°10°
— Wt 128g |133g
02 X /oF
@Bl

DA 27.2
2B 28.6
C 21.5
aD 8.3

OE 28.6
e 26.4
OF 14

01 76°
62 51°
Wit. 113g

B230/B240
Seaf Lug

g A 26.8 | 27.2
H+)-)@D| @B 28.6 | 28.6
' C 21 21.5
@D 8.3 8.3
@ E 25.4 | 28.6
X° TNT6°078° || T4°776°7T8°
Wt. 72g  ||72g

SBeatZL%2/8242
1

‘@Y _|@D 2 A 27.2 | 27.2
2B 28.6 | 28.6
c 21 21
oE @D 83 |83
X° 2 E 25.4 | 28.6
oF 15.9 | 15.9
61 73°30°[[73°30°
- 62 [49°10°[49°10°
Wt. 92g |100g

(17 ALLOTEC )




27.2

28.6 | 28.6 | 28.6 | 28.6
20 20 20 20
8.3 8.3 8.3 8.3
14 14 14 14
14 14 14 14

73.5° |74.5° 77.6° | 80°

45° ]49.6° 54.9°| 54°
95¢g 95¢g 95¢g 95¢g

B270/B280
Seat Lug _ .

2 A 27.2 | 27.2
2B 28.6 | 28.6
C 21 21
2D 83 | 8.3
o E 254 | 28.6
P e 23.6 | 26.8
X° 74° | 74°
W, 102g |113g

B310/B320

Seat Lug
27.2 27.2
28.6 28.6
21 21
8.3 8.3
25.4 28.6
23.6 26.8
74°/76° 74°
829 979
Seaf Lu
s MODEL
- DA 27.2 27.2
@B 28.6 28.6
C 21.5 21.5
@D 8.3 8.3
OE 25.4 28.6
X° 75° 73.5°
Wt. 128g 133g

(MODELIM171JM173 [ M181]
2B

28.6 31.8 28.6
254 254 28.6
61°/73.8°/67°/95.8° 95.8° 71.27180.2°183.9°7108°
429 629 50g

(18 ALLOTEC)




M175/M176

Clamp

TBO1

DA 28.6 28.6
7B 14 14

X° 55.44°
Y° 7° 5.91°
W, 309 31g

RA 14.3
OE 28.6
X° 77.3°
Wi. 429

Seat Clamp
L MODELY TB01-1Y TB01-2Y TB01-3
. DA 28 30 33
S 2B 29.8 31.8 34.9
CoNal c 20.5 22 23.7
O @ @D 10.5 10.5 10.5
M M M6X1.0 || M6x1.0 || M6X1.0
@B W, 30g 329 33g
Seat Clamp oA
C
—i MODELY TB02-1Y TB02-2Y TB02-3Y TB02-4
. J oA 27.2 28 30 27.2
2B 28.6 29.8 31.8 34.9
c 20 20.5 22 235
2B @D 8.3 8.3 8.3 8.3
Wi. 249 23g 259 279

(19 ALLOTEC )




CO1

Dropout

CO2

Dropout

CO4

Dropout

MODEL | TCO1R | TCO1L | TCO1H

D 10 10 10

C 26

M1 M10X1.0
M4 3-M3X0.5
Wit. 47g 24g

15 15 15

12 12 12

16 16 16

14 14 14

26 26 26

10 10 10

5 5 5

M10X1.0||M10X1.0||M10X1.0

M5X0.8 || 2-M5X0.8

48°/54°160°170° | [48°154°160°/70° | |48°/54°/60°/70°

60° 60° 60°

200g 200g 200g

C02-1
16

14

19

17

26

10

M10X1.0

M5X0.8

48°/54°/60°

130g

12.5

13.5

26

10

8

M10X1.0

66°/70°/74°

30°

80g

C04-1
16

13.5

18

15.5

27

10

M10X1.0

M5X0.8

45°/55°/62°

113g

(20ALLOTEC )




30
10 10 10
M10X1.0
M3X0.5
33g 329 339

MODEL
B

16
b 14
C 27
D 10
E 8
M1 M10X1.0
X° 72.5°
Wi. 105¢g

MODEL [ C07-1

oA 14
Qa 1.8
2B 18.8
ob 13.8
[ 26

D 10

oF 6

M1 M10X1.0
G M5X0.8
X° 48°
W, 2059

10

— oA

: : RB 23
L1 RC 19
;_j' _______ oA W, 205g
|

|

I

MODEL

DA 12.5
B 13.5
C 26
D 10

E 8

M1 M10X1.0
X° (50T
y° 60°
Wi, 80g

(21 ALLOTEC )




Cl4

Dropout MODEL C141 | C14-2
DA 12.5 12.5 12.5
Da 10 10 10
C 28 28 28
D 10 10 10
M1 M10X1.0 M10X1.0 M10X1.0
M3 M5X0.8 2-M5X0.8

M5 M4X0.7 M4X0.7 M4X0.7
X° 45°55°162°166°/70° | | 45°/55°162°166°170°| | 45°/55°162°166°170°
Wi. 1719 1779 183g

Cl5

Dropout

MODEL

oA 11
2B 125

D 10

M5 M4X0.7
X° 55°/62°/66°/70°
Wi. 180g

¢16 ,

Dropout oA 1
2B 125
Cc 28
D 10

M1 M10X1.0
X° 55°160°/65°/70°/14°
Wt. 130g

Dropout MODEL C17-1 | C17-2
3 13

oA 1 13
Ja 11 11 11

2B 14 14 14

@b 12 12 12

D 10 10 10

M3 M5X0.8 || 2-M5X0.8
M5 M4X0.7 || M4X0.7 || M4x0.7
X T RETOIE | BT R RG TUTE | [SB5 62 6 T e
Wi, 171g 1899 1979

C18

Dropout oB 13.2
b 10.5
C 34.2
D 10
M1 M10X1.0
M3 2-M5X0.8
M4 M3X0.5
X° 55°
Wi, 2009

(22 ALLOTEC)




Dropout

13.2
10.5
10
2-M5X0.8
M3X0.5
55°
1859
MODEL | C20-1
C 30
D 10
M1 M10X1.0
M3 M5X0.8
Wi. 1049
(L
Sl v
C 31.8
D 10
M3 M5X0.8
Wt. 83g
A
Dropout MODEL [ C22-2
B 13.2
C 26
D 10
M1 M10X1.0
M3 2-M5X0.8
M5 M4X0.7
Wit. 1799

MODEL | C23-2
C

30
D 10
H 51
| 78.1
L 39.9

M1 M10X1.0
M3 2-M5X0.8
M5 M6x1.0
WH. 3369
Rotor 160

(23 ALLOTEC)




C24

Dropout

Dropout

Dropout

CS51

Dropout

MODEL
C

30 30
D 10 10
H 51 51
| 78.1 78.1
L 39.9 39.9
M1 M10X1.0 || M10X1.0
M3 M5X0.8

M4 3-M3X0.5 || 3-M3X0.5

M5 M6X1.0 M6X1.0

Wt. 230g 230g
Rotor 160 160
10 10 10
74.2 74.2 74.2
6.8 6.8 6.8
55.9 55.9 55.9
M10x1.0 || M10x1.0 M10x1.0

M5X0.8 || 2-M5X0.8

3-M3X0.5 || 3-M3X0.5 || 3-M3X0.5
M6X1X14L||M6X1X14L||M6X1X14L]
341g 341g 341g
160 160 160
MODEL
C 30 30
D 10 10
H 74.2 74.2
| 6.8 6.8
L 55.9 55.9
M1 M10X1.0 || M10X1.0
M3 M5X0.8
M4 3-M3X0.5 || 3-M3X0.5
M5 M6X1X14L|| M6X1X14L]
Wit. 2469 2469
Rotor 160 160

MODEL C471
B

305 305
C 30 30
D 10 10
E 18 18
M1 M10X1.0|| M10X1.0
M3 M5X0.8
M4 |[3-M3X0.5 || 3-M3X0.5
Wt 112g 1129

MODEL |

C51-1

C 30 30

D 10 10

M1 M10X1.0|| M10X1.0
M3 M5X0.8
Wit. 100g 110g

(24 ALLOTEC )




MODEL[ C53-2
C

30
D 10
H 34
| 36.5
L 16
M1 M10X1.0
M3 2-M5X0.8
Wt. 313g
Rotor 160

C55

Dropout

MODEL [ C55-2
C 30
34
36.5
16
M10X1.0
M12X1.0

M12X1.5
M12X1.75

2-M5X0.8
358g
160

Co4

Dropout 2

34

36.5

16
M10X1.0
M12X1.0
M12X1.5
M12X1.75

2-M5X0.8
3189
160

MODEL C79-1 g
C

Dropout

Dropout 28 28 28

H 34 34 34

| 365 365 365

L 16 16 16

M1 |[M10X1.0 |[M10X1.0 || M10X1.0
M12X1.0 | [M12X1.0 | [M12X1.0

M2 || M12X15 || M12X15 || M12X15
M12X175| | M12X1.75 | M12X1.75

M3 M5X0.8 || 2-M5X0.8

M5 || 2-Max0.7 | [2-Max0.7 || 2-Max0.7

Wit. 3069 314g 3229

Rotor 160 160 160

(25 ALLOTEC)

MODEL

C56-1

@B 16.6 16.6
@b 134 13.4

C 30 30

D 10 10

M1 M10X1.0|| M10X1.0
M3 M5X0.8
X° 17.5° 17.5°
Wit. 1719 171g




C58

Dropout

C58H B8R B
28
10 10 10
M10X1.0
3-M3X0.5
339 389 399

18

C66-1 | C66-2
18

18

16

16 16

28

28 28

M10X1.0 || M10X1.0 || M10X1.0

M12X1.0 || M12X1.0 || M12X1.0
M12X1.5 ||M12X1.5 || M12X1.5
M12X1.75 || M12X1.75 | | M12X1.75

M5X0.8 2-M5X0.8

2-M4X0.7 | | 2-M4X0.7 || 2-M4X0.7

1469

1529 1589

Cc68-1 [ C68-2

Dropout

18 18 18
16 16 16
28 40 40
742 74.2 74.2
6.8 6.8 6.8
475 475 475
M10X1.0 |[M10X1.0 || M10X1.0
M12X1.0 |[M12X1.0 |[M12X1.0
M12X15 ||M12X1.5 || M12X1.5
M12X1.75 || M12X1.75 | | M12X1.75
M5X0.8 || 2-M5X0.8
2-M4X0.7 | [2-M4X0.7 |[2-M4X0.7
MBXTXTAL | [MBX1X14L | [ MBXTXT4L
2549 260g 2669
140 140 140

Dropout

C69-1 | C69-2

28 28 28
H 51 51 51
| 78.1 78.1 78.1
L 39.9 39.9 39.9
M1 M10X1.0 || M10X1.0 || M10X1.0
M12X1.0 || M12X1.0 || M12X1.0
M2 M12X1.5 || M12X1.5 || M12X1.5
M12X1.75|| M12X1.75| | M12X1.75
M3 M5X0.8 2-M5X0.8
M4 2-M4X0.7 || 2-M4X0.7 || 2-M4X0.7
Wi. 282¢g 290g 298g
Rotor 160 160 160

C/78

Dropout

MODEL | C78-2
C

28
H 74.2
| 6.8
L 55.9
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75

M3 2-M5X0.8

M5 M6X1X14L

Wt. 3259

Rotor 160

(26 ALLOTEC )




C80
18

Dropout A
B 21
A C 28

H 51

| 78.1

L 39.9

M1 M10X1.0
M12X1.0

M2 M12X1.5
M12X1.75

M3 2-M5X0.8

Wt. 324g

Rotor 160

C81

Dropout
MODEL

A 20.5

C 30

M1 M10X1.0
M12X1.0

M2 M12X1.5
M12X1.75

M5 2-M4X0.7

Wt 1559

C82

Dropout
. MODELY. C82 Y C82-1 | C82-2

A 20 20 20
B 19.4 19.4 19.4
acC 121 121 121
@D 20 20 20
M3 M5X0.8 2-M5X0.8
Wt. 138g 1459 1529
For SRAM-UDH| |SRAM-UDH| |[SRAM-UDH

MODEL ] C101 [ C101-1 J C101-2
A 20

20 20
B 19.4 19.4 19.4
[4]® 121 121 12.1
aD 20 20 20
H 34 34 34
| 36.5 36.5 36.5
L 16 16 16
M3 M5X0.8 2-M5X0.8
WH. 228g 2344 2419
For SRAM-UDH| [SRAM-UDH| [SRAM-UDH

MODEL C83-2
A

Dropout 13.2 13.2 13.2
2B 16 16 16
C 28 28 28
@D 12.1 12.1 121
H 34 34 34
| 36.5 36.5 36.5
L 16 16 16

M1 M10X1.0 || M10X1.0 ||M10X1.0
M2 M12X1.0 || M12X1.0 |[M12X1.0
M12X1.5 || M12X1.5 ||M12X1.5
M12X1.75 || M12X1.75 || M12X1.75

M3 M5X0.8 || 2-M5X0.8
M4 M3X0.5 M3X0.5 M3X0.5
Wi. 192¢g 201g 2119

(27 ALLOTEC) Rotor || 160 160 160




C84

Dropout

C110/111

Dropout

Dropout

C210

Dropout ) Q MODEL | C210 [ C210-1[ C210-2

MODEL
A

13.2 13.2 13.2

2B 16 16 16
C 28 28 28
@D 12.1 12.1 12.1
M1 M10X1.0 |[M10X1.0 |[M10X1.0
M2 M12X1.0 |[M12X1.0 |[M12X1.0

M12X1.5 ||M12X15 |[M12X15

M12X1.75 | | M12X1.75 || M12X1.75
M3 M5X0.8 || 2-M5X0.8
M4 M3X0.5 |[M3X0.5 |[M3X0.5
Wi. 160g 1659 1679
Rotor || 160 160 160

DA

MODEL ] C110-2 | C111-2
oA 11 125
2B 125 125

C 28 28

D 10 10

M1 M10X1.0|[ M10X1.0
M3 2-M5X0.8| 2-M5X0.8
X 65° 65°
Wi, 200g 200g

11.8

MODEL [ C120

oA 11
2B 125
C 26
D 10
M1 M10X1.0
X° 66°
WL 200g

11.8 11.8

Ja

9.1

9.1 9.1

B 14.2 14.2 14.2
@b 11.5 11.5 11.5
C 26 26 26

D 10 10 10

M1 M10X1.0j| M10X1.0|| M10X1.0

M3

M5X0.8 || 2-M5X0.8

X°

54°/60°/66°/70°

54°160°/66°/70° || 54°/60°/66°/70°

Wi.

135¢g

137g 1399

C230

Dropout

MODEL] C230

oA 11

2B 125
C 26
D 10
M1 M10X1.0
X° 54°160°/66°/70°
Wi. 779

(28 ALLOTEC )




A
Dropout _ MODEL
A

18
E1 9
E2 10
L 52.9
M4 M3X0.5
X° 100°
Wit. 2859

MODEL
A

21
E1 9
E2 10
M4 M3X0.5
Wt. 1069
MATERIAL AL

MODEL

D 10

F 37

H 51

| 78.1

L 39.9

M1 M10X1.0

M3 2-M8X1.25

Wit. 121g
MATERIAL AL

Rotor |[160(Rohloff)

MODEL
D 10

F 37

H 51

| 78.1

L 39.9

M3 2-M8X1.25

Wi. 99g
MATERIAL AL

Rotor ||160(Rohloff)

MODEL
C

30
D 10
H 51
| 78.1
L 39.9
M1 M10X1.0
M3 2-M8X1.25
Wt. 1149

MATERIAL AL

Rotor 160

(29 ALLOTEC)




C32

Dropout MODEL
D
H 51
H | 78.1
L 39.9
M3 2-M8X1.25
Wt 94g
MATERIAL|| AL
Rotor 160
MODEL
C 30
D 10
M1 M10X1.0
M3 2-M8X1.25
Wit. 97g
MATERIAL|[ AL

D 10

M3 2-M8X1.25
Wi. 769
MATERIAL AL

MODEL :
C

30
D) 10
H 74.2
| 6.8
L 55.9
M1 M10X1.0

M3 2-M8X1.25
M4 2-M6X1.0

Wt. 1459
MATERIAL AL
Rotor 160
MODEL
D 10
H 74.2
| 6.8
L 55.9

M3 2-M8X1.25
M4 2-M6X1.0

Wi. 1249
MATERIAL AL
Rotor 160

(30 ALLOTEC )




C86

Dropout MODEL] C86 |
c

30

D 10
H 34
I 36.5
L 16

M1 M10X1.0
M3 2-M8X1.25

Wit. 121g
MATERIAL AL
Rotor 160

C87
Dropout MODEL] C87 ]
D

10
H 34
. I 36.5
N L 16
?", \ N M3 |[2-M8X1.25
e&o m %%
<\
2 “ MATERIAL|[ AL
\.‘\ Rotor 160
S

MODEL
C

30
D 12.1
H 51
| 78.1
L 39.9
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75
M3 2-M8X1.25
Wt. 1239
MATERIAL AL
Rotor 160

MODEL
D

12.1
H 51
I 78.1
L 39.9
M12X1.0
M1 M12X1.5
M12X1.75
M2 |[2-M8X1.25
Wit. 115g
MATERIAL AL
Rotor 160
MODEL
C 30
D 121
H 74.2
I 6.8
L 55.9
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75
M3 |[2-M8X1.25
M4 2-M6X1.0
WH. 160g
MATERIAL AL
Rotor 160

(31 ALLOTEC )




MODEL] C96 |
D

12.1

H 74.2

| 6.8

L 55.9

M2 M12X1.0
M12X1.5
M12X1.75

M3 2-M8X1.25
M4 2-M6X1.0

Wi. 1379
MATERIAL AL
Rotor 160
C 8 5 MODEL -
C
Dropout D 12.1
H 34
| 36.5
L 16
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75
M3 2-M8X1.25
Wi, 141g
MATERIAL AL
Rotor 160

MODEL
D

12.1
H 34
| 36.5
L 16
M12X1.0
M2 M12X1.5
M12X1.75
M3 2-M8X1.25
Wi, 133g
MATERIAL AL
Rotor 160

MODEL
C

Dropout 30
D 12.1
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75
M3 2-M8X1.25
Wt. 104g
MATERIAL| AL
Rotor 160

C89 PMODELY_ C89_ |

Dropout D 121
M12X1.0

M3 M2 M12X1.5

M12X1.75

o o) (oo M3 |[2-M8x1.25

W, 969

@ MATERIAL| AL

E Rotor 160

M2

(32 ALLOTEC )




C60

Dropout

&lJ
B B 30 30

e IR

C42
B

C43

1

¥ &

(33 ALLOTEC)

MODEL
A

20
B 30
Wi, 469

MODEL
A

20

B 30
Wi. 169
MATERIAL AL

E 30
. c 30 30 30
I D 10 10 10
9 E 10.2 10.2 10.2
M1 M10X1.0|| M10X1.0{| M10X1.0
7®) M3 M5X0.8 || 2-M5X0.8
© WE. 48g 50g 529
MATERIAL|| AL AL AL
30 30 30
‘ D 10 10 10
OV E] E 10.2 10.2 10.2
M3 M5X0.8 || 2-M5X0.8
N Wit. 689 709 729
Q%5 MATERIAL|| AL AL AL
30 30 30
C 30 30 30
D 19.5 19.5 19.5
E 12.1 12.1 12.1
M1 M10X1.0 || M10X1.0 || M10X1.0
M12X1.0 || M12X1.0 |[M12X1.0
M2 M12X1.5 || M12X1.5 || M12X1.5
M12X1.75 || M12X1.75|| M12X1.75
M3 M5X0.8 || 2-M5X0.8
Wt. 70g 73g 759
MATERIAL|| AL AL AL




MODEL
A

21 21
D 10 10
H 34 34
| 36.5 36.5
L 16 16
M3 M5X0.8
Wi, 1429 149g
Rotor 160 160

Dropout
MODEL Cc71-1
A

o \ ( o |a 21 21
) [ (| D 10 10

3 M3 M5X0.8

Wi. 40g 489

MODEL
A

21 21
D 10 10
H 34 34
| 36.5 36.5
L 16 16
M3 M5X0.8
Wi. 142g 1499
Rotor 160 160

MODEL
C

28
@D 12.1
L 19.5
M1 M10X1.0
M12X1.0
M2 || M12X1.5
M12X1.75
M4 || M3X0.5
W. 459
MATERIAL|| AL

MODEL] C75 |
C

28
D 10
M1 M10X1.0
M4 M3X0.5
Wt. 369
MATERIAL|| AL

(34 ALLOTEC)




D

10

MODEL

M4

M3X0.5

Wi.

299

MATERIAL AL

18 18
16.2 16.2
8.4 8.4
80 80
M5X0.8 || 2-M5X0.8
165¢g 1729

(35 ALLOTEC )

(MODELT C132 |
C 30

M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75
M3 M8X1.25
Wi. 1379
MATERIAL] AL

C

30
D 10
M1 M10X1.0
M3 M8X1.25
Wi. 129¢g
MATERIAL AL

C 30
H 51
| 49.7
L 87.3
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75
M3 M8X1.25
Wi. 1699
MATERIAL AL
Rotor 180




(MODELT €138 |
C

30
D 10
H 51
| 49.7
L 87.3

M1 M10X1.0
M3 M8X1.25

Wt. 1589
MATERIAL AL
Rotor 180

MODELT C142 |
C

30
H 74.2
| 12.4
L 64
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75

M3 M8X1.25
M4 2-M6X1.0

WH. 202g
MATERIAL AL
Rotor 180

C

30
D 10
H 74.2
| 12.4
L 64

M1 M10X1.0
M3 M8X1.25

M4 2-M6X1.0

Wi, 193g
MATERIAL AL
Rotor 180

C

30
H 34
| 45
L 21.3
M1 M10X1.0
M12X1.0
M2 M12X1.5
M12X1.75

M3 M8X1.25
M4 2-M6X1.0

Wi. 1609
MATERIAL AL
Rotor 180

(MODELT C148 |
C

30
@D 10
H 34
| 45
L 21.3
M1 M10X1.0
M3 M8X1.25
Wit. 1529
MATERIAL AL
Rotor 180

(36 ALLOTEC )




Top Head L

ug
§ o8 MODEL] F01 |

oA 25.4
N P oB 31.8

H 42
= A
@ X° 70.5°
= Wi. 25g

MODEL] F02 |

A 28.6
H 2B 31.8
H 46
X° 61.5°
Wi. 259

MODEL[ F03 T F05 ]

oA 28.6 28.6
oB 31.8 36
H 495 495
X wrxneny || neny
Wi, 25g 23g

H
MODEL] Fo4 | F06 |
DA 31.8 31.8
B 31.8 36
H 56.5 56.5
X° 58°160°/63°/66°/69°| | 58°/60°/63°/66°
H Wi, 30g 279

(37 ALLOTEC)




Top Head Lug

MODEL
DA 25.4
B 31.8

H 50

X° T1°74°177°180°

Wit. 28g
Bottom Head Lug

MODEL [ F08
DA 28.6
B 31.8

H 55
X° 57°160°/63°/66°
Wit. 32g

Top Head Lug

oB
X° —

MODEL] F09 |

oA oA 25.4

oB 31.8

= H 42

H X° ST T Te st

M~ Wit. 199

Bottom Head Lug

MODEL] F10 |

DA 28.6

B 31.8

H H 50.5
X° 58°160°/61.8°/63°/66°

Wi. 249

B

(38 ALLOTEC )




Head Lug

-

\Iﬂ

7B

MODEL] F11 |
DA 30.4
B 324

Wi. 79

(39 ALLOTEC)

DA 30.4

@B 32.4
M 2-M5X0.8
Wi. 119

'MODELT F111 |

DA 25.4
B 31.8
H 495
X° 125°715.1°19°
Wt. 18g
MODEL | F110 |
DA 28.6
B 31.8
H 55
X° 58.4°161.6°/77 5°
Wt. 23g




F121

Top Head Lug

MODEL[ F121 ]
oA 28.6
2B 31.8
H 49
X° 70.5°(73.5°177°
Wi. 21g
H
Bottom Head Lug
MODEL [ F120 |
oA 31.8
@B 31.8
H 55
H X° 59.5°/63°/66°
Wt. 249

F131/F135/F141/F151

Top Head Lug

_F141 T _F135

MODEL] F131 |
OA

254 28.6 25.4
o8B 318 31.8 36
o8B H 52 52 55
. X REIGI TSI 6S 73°
X j Wi 289 30g 289
[ MODEL] F151 T F161 |
HI| oA 28.6 31.8
o8B 36 36
H 52 52
X° | [emsmsmeseig| | 1S
Wit. 35¢g 38g

F130/F132/F134/F140

Bottom Head Lug

| MODELY F130 [ F140 | F132
DA 28.6 31.8 25.4
- H @B 31.8 31.8 31.8
- ! H 56 60 60
X° 58°/59.5°/61°/63°||58°/59.5°/61°/63° 61°
! Wt. 38g 409 409
X =
7B
MODEL] F150 T F160 T F134
DA 31.8 34.9 28.6
@B 36 36 36
H 60 60 60
X° 58°/60°/62°/64° 59°/61° 77.30°
Wit. 459 489 48g

(40 ALLOTEC )




R s (S GER TR

@B 31.8 31.8 36

B E 25 25 25
| H 67 67 67
X° X° 73.5° 73.5° 73.5°
E Wt. 55¢g 55¢g 55¢g
DA
H

F182
Top Head Lug
i § (MODEL | F182 ]
/
/

DA 28.6
RB 15.9

A
@ Wt. 33g

MODELY F173 | F183 |

OA 254 28.6
@B 31.8 31.8
H 49.5 49.5

X° 22° 22°/55°
Wit. 55¢g 55¢g

T

W

F1/75
Top Head Lug

A 14X2
@B 31.8
H 49.5
X° 98.8°

14}
T
9} W, 299

F173/F183
Top Head Lug
/

X°

]

(41 ALLOTEC)




E,E'Hza}!ulj 181/F191 ST TS

318 31.8
495 495
T35 TEN05.2°120° || 72575797198 8°1108°
289 309
[ F191 |
28.6
36
495
735°75°79°/98°1108°
35¢g
Bottom Head Lug F170 [ F180 |
28.6 31.8
31.8 31.8
55 55
50.5°61.8°63°1646° || 59.5°/63°/66.8°
35g 40g
H [ F190 |
31.8
36
OA 55
X° 59.5°/63°
409
oB

F211/F221/F223
Top Head Lug (MODELT F211 T F221 T F223 ]

oA 254 28.6 28.6
2a 235 26.4 26.4
2B 31.8 31.8 36
H 495 495 495
. x° 72575 || 735° 73.5°
X 2B Wi, 469 51g 53g

F210/F220/F222

Bottom Head Lug

MODELT" F210 T F220 T F222
DA

28.6 31.8 31.8
B ! Oa 26.4 29.9 29.9
o8B 31.8 31.8 36
B H 55 55 55
| H X? 59.5°62° || 59.5°62° 59.5°
Wt. 739 739 739

(42 ALLOTEC )




F231/F241/F243 PMODEL Y F231 | F241 | F243 |

Top Head Lug oA 25.4 28.6 28.6
oB 318 318 36

o8B
H 52 52 52
x| X° | |rrmepznens|rnensnensng || 3nsme
Wt. 33 35 37
oA g 9 g
|
~ H
™~
|

F230/F240/F242 g
Bottom Head Lug | mm

28.6 31.8 31.8
! oB 31.8 31.8 36
' H 60 60 60
X° 50°160°161°162°163] | 58.5°160°62° 58°160°162°
H Wit. 429 43g 459

\-
2B

F251
Top Head Lug

x/" "MODELT F251 |

DA 14
F250 o5
Bottom Head Lug MODEL | F250 |
|

oA 16
oB 318
H 55
| X° 60°/62°
H / Wt. 40g
"
I
@A

. X |

(43 ALLOTEC)

I~

2B 31.8
H 50
X° T315.1°178°
Wt. 33g




L21/E 281/P282

MODELY F271 T F281 | F283 |
A 25.4 28.6 28.6
oa 23.6 26.4 26.4
OB 31.8 31.8 36

H 48 48 48
X° 74° 74° 74°/76°
Boilorite Lug MODEL I F270 I _F280 T F282 |
28.6 31.8 31.8
ga 26.4 29.9 29.9
7B 31.8 31.8 36
A 53.5 53.5 53.5
X° 58°/60°/62°||  60° 60°
Wt 85g 87g 90g

| F311/F321/F323

Top Heaalui MODELT_F311_f_F321 T F323

254 28.6 28.6
ga 23.6 26.8 26.8
oB 318 31.8 36
H 50 50 50
X° 74° 74° 4°

P
I

F310/F322
Bottom Head Lug [MODELY] F310 | F322 |

oA 28.6 31.8
Oa 26.8 30
oB 31.8 36
H 58.8 58.8
< 60°/62 60°/62°
Wt. 859 909

(44 ALLOTEC )




F331/F341

Top Head Lug

Ia!“ZYI].pZO/H 127

(45 ALLOTEC)

254 28.6
31.8 31.8
55 55
73.5° 73.5°
729 729
F330 [ F340 |
28.6 31.8
31.8 31.8
60 60
60° 60°
729 729
MODEL] G120 | G127
DA 25.4 28.6
M6X1 M6X1
17° 17°
669 709
MODEL] G121 | G122 |
DA 254 28.6
M6X1 M6X1
17° 17°
669 70g
MODELY H120 | H127
DA 25.4 31.8
M M5X0.8 M5X0.8
Wit. 45¢g 48g




& N 4
oA 28.6 28.6 28.6
2B 28.6 28.6 28.6
— aC 222 22.2 22.2
N X° 59° 59° 61.6°
12 1 Ye 61° 66° 65.5°
? z 7° 7° 7°
Wt 145g 145g 145g
N\ N\ N\ N\ N\
oA 31.8 | 31.8 | 318 | 318 | 31.8 | 31.8
2B 28.6 | 28.6 | 28.6 | 28.6 | 28.6 | 286
aC 222 || 222 | 222 | 222 | 222 | 222
X° 58.5° | 60.5°| 62.5°| 62° | 59° || 61.6°
Y 65° | 65° | 65° | 69° | 68° | 62.9°
z° 7° 7° 7° 7° 7° 7°
Wi, 168g || 168g | 168g | 168g | 168g || 168g
oA 28.6 || 28.6 | 28.6 | 28.6 | 286 | 286
2B 28.6 | 28.6 || 28.6 | 28.6 | 28.6 | 286
aC 222 || 222 | 222 || 222 | 222 | 22.2
X° 60.5° | 68° | 62.9° | 61.6° | 61.9° | 58.4°
Y 64° | 62° | 58.4° | 62.9° | 68.2° | 62.9°
z° 7° 7° 7° 7° 7° 7°
Wi, 1759 | 1759 || 1759 | 1759 | 1759 || 1759
4 aYd Y
oA 31.8
2B 28.6
aC 22.2
L 68/70
M 137 XUTIN3BKT
X 60.5°
Ye 61.5°
z 7°
Wt. 175g

(46 ALLOTEC )




A 28.6 28.6
2B 28.6 28.6
acC 22.2 22.2
X° 79.5° 79.5°
Y 70.4° 75°
Z° 7° 7°
Wi. 1549 1549
Y, o Y4 D\
A 28.6 28.6
2B 28.6 28.6
(%] 22.2 22.2
X° 60.43° 61.8°
Y° 62.72° 67.5°
ZO 70 70
Wt. 1549 1549
s D D
DA 31.8 31.8
2B 28.6 28.6
aC 22.2 22.2
X° 58.7° 59.3°
Y 65.2° 62.3°
Z° 7° 7°
Wi. 1479 1479
- N N
DA 31.8 31.8
2B 28.6 28.6
aC 22.2 22.2
X° 61.6° 62.5°
Y 65.5° 59.5°
ZO 70 70
Wit. 1479 1479

DA 28.6 || 28.6 | 28.6 | 28.6 | 28.6 | 28.6 254

@B 28.6 || 28.6 || 286 | 28.6 || 28.6 | 28.6 || 28.6

acC 222 || 222 || 222 || 222 || 222 | 22.2 22.2

X° 57.38°|| 58.78°| 59.89°| 61.14° || 62.14°|| 75.30° || 59.5°

Y° 64.8° | 63.55°| 63.25°]|63.25° || 63.25°| 78° 67°

7o 7° 7° 7° 7° 7° 7° 7°

WH. 175g || 175g | 175g | 175g || 175g | 175g || 1759

A 31.8 || 31.8 || 31.8 || 31.8 || 31.8 || 34.9
[%]=] 28.6 || 28.6 || 28.6 | 28.6 || 28,6 | 31.8
ac 222 || 222 || 22.2 || 222 || 22.2 || 22.2

X° 58° 59° 60° 61° 62° 60.2°
Y® 64° 64° 64° 64° 64° 63.2°
Z° 70 70 70 70 70 70

Wt || 1759 || 1759 || 1759 || 175 | 175q || 1759

(47 ALLOTEC)




DA 28.6 || 28.6 || 286 | 28.6
@B 28.6 | 28.6 | 286 | 28.6
ac 222 | 222 || 222 || 22.2

X° 57.38°| 59.3° | 61.5° | 62.14°
Ye 64.8° | 64° | 67.3° | 63.25°
z° 7° 7° 7° 7°
Wt 1479 | 147g | 147g || 1479
4 Y
oA 31.8 | 31.8 | 318 | 318 | 318
2B 28.6 | 28.6 | 286 | 286 | 318
ac 222 || 222 | 222 || 22.2 | 22.2
X° 56.8° | 58° | 60° | 62° | 67.4°
Ye 62.9° | 64.2° | 64.3° | 64° | 58.7°
z° 7° 7° 7° 7° 7°
Wi. 147g | 147g | 147g | 147g | 1479

oA 28.6 | 286 | 286 | 31.8 | 31.8 | 31.8
oa 26.8 | 26.8 | 268 | 29.9 | 29.9 | 29.9
2B 286 | 286 | 286 | 28.6 | 286 | 28.6
2b 268 | 268 | 268 | 268 | 26.8 | 26.8
aC 222 | 222 | 222 | 222 | 222 | 222
@c || 20.35 | 20.35 | 20.35 | 20.35 | 20.35 | 20.35
X° 58.4° | 60° | 60° | 584°| 60° | 61.9°
Y° 62.9° | 64° | 68° | 62.9°| 64° | 68.2°
z° 7 7 7 7 7 7
Wt. || 220g | 220g | 220g | 230g || 230g | 230g

DA 28.6 28.6 31.8
B 28.6 28.6 28.6

C 22.2 ||27X17]|| 22.2
X° 60° 58° 60°
Y°® 64° 67.5° || 62.72°
z° 7° 7° 7°

Wi. 300g || 302g |([312.5g

N
1.37"X24T

=
J
X
S
L 68 | |+
N

(48 ALLOTEC )




(49 ALLOTEC )

A 286 || 31.8 || 31.8 | 31.8 | 349 | 349 | 34.9
2B 28.6 | 28.6 | 28.6 | 31.8 | 31.8 | 31.8 | 31.8
C 27X17 | 30X17 || 30X17 | 30X17 || 30X17 || 30X17 | 30X17
X° 59.5° | 57.38°|| 60.5° | 60° 57° 60° 63°
Y° 62.5° | 64.8° || 62° 64° 64° 62° 65°
z° 7° 7° 7° 7° 7° 7° 7°
Wit. 175g || 175g | 1759 | 175g || 1759 | 175g | 1759
4 N N Y
A 28.6 28.6
B 28.6 28.6
C 27X17 27X17
X° 59.5° 61.9°
Ye 62.5° 68.2°
z 7 7°
Wi. 175¢g 1759
5 Ve N 2
A 31.8 31.8
2B 28.6 28.6
C 30X17 30X17
X° 58° 60°
Ye 64° 64.3°
z° 7° 7°
Wt. 180g 180g
Y2 aYa D
A 28.6 28.6
B 28.6 28.6
C 30X17 30X17
X° 57.38° 60°
Y 64.8° 64°
z° 7° 7°
Wi. 178g 178g
N N Y
A 31.8 31.8
2B 28.6 28.6
C 30X17 30X17
X° 58° 60°
Ye 64° 64°
z° 7° 7°
Wi, 1839 183g
P o Y4 2
A 16
B 28.6
acC 16
X° 60°
Y° 64°
Z° 7°
Wit. 1759




RA 15.9
oB 6.3
C 24
Wt 129

/>C MODELT E06 |

RA 15.9
@B 6.3
C 2.4
Wit. 89

e _

E11/E13

Cable Stopper

MODEL] E11 | E13

RA 15 11

2B 6.3 6.3
C 2.6 2.6
Wh. 10g 10g

MODEL[ E12 | E14 |

RA 17.5 12

OB 6.3 6.3
C 26 2.6
Wi. 10g 10g

MODELY E32 |
RA

s|ojm

t. 89

(50 ALLOTEC )




Cable Stopper
[ E33 |

14.3
RB 2x2.6
C 7.6
r D H 7.5
C L 20
L Wit. 59
RB MODEL] E48
RA 14.3
RB 3x2.75
C 7
H 9
L 16
Wt. 39
RA
Cable Stopper
MODEL] EO05 |
RA 11
B 2.7
C 12
Wit. 79
Cable Stopper
MODEL] E26 |
RA 15.9
M B 20
@C 6.8
M M5X0.8
Wt. 89
Cable Stopper ( 5
B MODEL
A A 8
B 5.8
— W 69

(51 ALLOTEC )




( MODELT" __ TE01
6

2A
B 18
R 8.88
DA Wt 29

R

MODEL TE02
6.3

DA

—
—m | >

TEOS5
6

L
@C
D 3
L 40
- W 12.8
@C Wt. 6o

(52 ALLOTEC)




Cable Stopper

MODEL] E60 |
. RB 15.9
H 11
L 32
M M3X0.5
W 12.6
Wt. 49

Cable Stopper W

MODELT E61
DA

6.1
oB 2.7
H 8
L 27.5
w 8
Wit. 29
MATERIAL AL

MODEL] E62 |
TA

6.1
H 8
L 27.5
W 8

Wi. 2g
MATERIAL|| AL

MODEL] E63 |

IA 6
B L o H 8
~ - L 27.5
IA w 8
Wi. 2g
MATERIAL AL

Cable Sfopper

A

B
. i H
A WW
\B/ L 27.5
w 8
:I MATERIAL AL
- - J
T H

(53 ALLOTEC)

mm\‘ﬁ




Cable Stopper

——& v MODELY] E65
H 8
L 275
L w 8
Wi. 29
J H MATERIAL AL

L

Cable Stopper
w| S MODEL E66

o L. D 2;2
ﬂ 2
¢ WJ H we || 2g

D MATERIAL||[ AL

Q

(uv)

\
>
§l_
o (I}
3]

7);"

Dropout Nut

w| <o) MODEL
’ | oA 6.1

H 8

- L . L 275

w 8

)(QA y Wt 29

MATERIAL|[ AL

|
_ Bt

x . MODEL[ E68 |

DA 6.1

B 2.7
oA H 8
L 275
w 3
M?L H W 29
MATERIAL|| AL
B
B

Cable Stopper | MODEL %
S S B 7:2
w D H 8
— 7 L 27.5
A L M M5x0.8

W 8

Wit. 49

M MATERIAL|| AL
A w

(54 ALLOTEC )




E/O

Cable Stopper M
-

RB 15.9

| H 9
L 24.6
M M3X0.5
W 12.6
Wt. 4g

E/1

/[ r
Cable Stoppe MODELT BTt
A 6.1
2B 2.7
H 6
L 20
Wi 8
Wit. 29
MATERIAL AL

MODEL
TA 6.1
H 6
L 20
W 8
Wi. 29
MATERIAL] AL

MODEL] E74 |

A 7

B 8

H 6

L 20

W 8

Wt. 29
MATERIAL AL

Cable Stopper

L 20
L w 8
Wt. 29
4_HCJ H MATERIAL AL
Cable Sfopper DEL
L H 6
FA B L 20

M M5x0.8
—= W 8
M I Wi, 4g
LT TH MATERIAL|[ AL
——'ﬂl-—




Cable Stopper

MODEL] E15 |
DA

6.2
RB 16
Wi. 10g

MODEL] E16 |
DA 7.5
M M5X0.8

Wi. 39

DA 11
D 7
E 5
H 7
M M5X0.8
Wit. 49

Cable Stopper

MODEL] E31 |
RA 9.525
M M10X1.0

Wi. 129

MODEL] E81 |
RA 14.3
M M10X1.0

Wt. 129

(56 ALLOTEC )




EO4

Boss Front Derailleur

RA

15.9
B 1.2
W 199

EOS8

Boss Front Derailleur

 MODEL T _E08 ]

RA 14.3
B 1.2
Wt. 8g

EO9

Boss Front Derailleur

RA 14.3
B 1.4
Wit. 79

Boss Front Derailleur

H

37
W 28
Wi. 199

E34

Boss Front Derailleur

RA 14.3
RB 20

L 221
M 2-M5X0.8
Wit. 189

(57 ALLOTEC )




B 5.2
M M6X1.0
W, 41g

E35 v PNODEL Y, E35
Boss Front Derailleur \@H MEL 4.3

g

—

=

E4A0/E41

Boss Front Derailleur ME'— % % %
B 25 25 25
C 8.7 8.7 8.7
L 16 20 20
Wi. 149 169 169

| 2

E38
raenem

2B 13.5 16.6

C rls(/ M M5X0.8 M5X0.8
\1/ Wi. 439 63g

_

Q
o)

Q
>

E4

Couple Nut 2B
2 12.8
» N — II\B/I M5X0.8
g \_T_,/ ﬁ Wt 789
DN
g J

E49
Couple Nut . MODEL -%E.
, | o8 15

gcC 10
_@(’ Wt. 789/29g

1 MATERIAL|| CRMO/AL
onjor,_[| ! —

(58 ALLOTEC )




Brake Bridge

[ E21-1 | E21-2 |
. ZA 8.5 8.5
2 oA B 72 86
i\ i X° 132° 132°
/@\ we_ ][ 309 | 3ig
| B |
Brake Bridge
s PMODELY E22 |
OA 8.5
B 68
X° 132°
Wt. 319
71 7.1
71 71
72 60.5
59 46.4
369 249
Brake Bridge PMODEL] E28 )
L OA 10.5
B 8.5
DA
agC 10
Y, T_T 3 L 70
@C Wi. 25¢g
‘( I'd
[%]5]
Brake Bridge
: S VODELY E20
L ac¢ DA 6.5
@B 2B 8.5
| gc 10.5
oD | @D 13.9
(3 f\ ) L 80
T WH. 33g
DA

(59 ALLOTEC )




MODELT _____E30 ]

oA 8.5
on B 65
i Wt. 29¢g
B
[ |
oA MODEL
oA 8.5
B 80
gC 11.2
C Wt. 29g
B
2C MODELY E232 Y E233
@c oA 14 18
Da 12 16
@C 16 22.6
oc 13.9 20
E 18 28
H 48.9 50.8
w 34.7 34.7
x° 8.5° 8.5°
Wt. 669 1039
Brake Bridge MODEL @8@-—
- B 17.6
RA C 35
B @D 8.5
Wit. 29

(60 ALLOTEC )




Front Disk Brake -
] o) " VIODEL
H
H

74.2
M 2-M6X1.0

T i W, 669
i i1l [MATERIAL CRMOJ/AL

E45

Front Disk Brake

MODELY  E45
H 74.2
M 2-M6X1.0
Wt. 969
[ E44
74.2
2-M6X1.0
82¢g
MODEL
H 74.2
M 2-M6X1.0
Wt. 60g
Rear Disk Brake MODEL] E51 | E52 |
oA 14 16
L 15 15
H 34 34
Wit. 339 369
Rear Disk Brake MODEL] E53 |
A 3
L 10
H 34
Wit. 31g




ac 8.5
L1 91.8
L2 60.2
W 54
Wt 5269
for E-6000

@C 8.5
L1 69
L2 108.4
W 71
Wit. 10479
for E-8000/E6100

acC 10
L1 25.79
L2 73.86
i 47
Wit. 832¢g
for MAX01

0] 8.5
L1 69
L2 108.4
W 71
Wit. 932g
for E-5000

(62 ATTOTEC)




MODEL[ E58

acC 9
L1 35.61
L2 135.59
W 75
Wi. 1093g
for BOSCH4

L1 L2
MODEL[ E80 |
ac 8.5
W L1 69
L2 108.4
ac w 71
C Wi, 1176g
‘ for DUEP-800
L1 L2
ac
MODEL| Es2 |
ac 8.5
M1 4-M5X0.8X10L
L1 L2
M2 |[3-M3X0.5X8L
= ST | i | L1 89.37
L2 91.35
w 70
Wi, 12209
for M410/510

(63 ATTOTEC)




Q120/Q121

Seat Stay Tip

Q126/Q127

Seat Stay Tip

Q140

Seat Stay Tip

Q210/Q220

Seat Stay Tip

7

DA

B

(MODEL[ Q120 [ Q121 ]

OA 14 16
B 12 14
L 61 61
Wi. 20g 21g

(MODEL[ Q126 [ Q127 ]

OA 13 15
B 10.5 12.5
L 60 60
Wt. 119 12g
( MODELT Q140 |
A 12
@B 14
Wi. 40g
'moDELT" @210 [ Q220
OA 12 14
B 14 16
L 48 48
Wi. 20g 20g

(64 ALLOTEC)




O
L
T
©)
-
L
<
o)
©







No.81, Lane 166, Xiquan Rd.,
Shengang Township, Changhua county (50951), Taiwan.

TEL: +886-4-7987686 FAX:+ 886-4-7985786
Email:allotec@allotec.com.tw




	2023dmAB(面)
	2023dmAB-1(底內頁)
	2023dmAB-2
	2023dmAB-3
	2023dmAB-4
	2023dmAB-5
	2023dmAB-6
	2023dmAB-7
	2023dmAB-8
	2023dmAB-9
	2023dmAB-10
	2023dmAB-11
	2023dmAB-12
	2023dmAB-13
	2023dmAB-14
	2023dmAB-15
	2023dmAB-16
	2023dmAB-17
	2023dmAB-18
	2023dmAB-19
	2023dmAB-20
	2023dmAB-21
	2023dmAB-22
	2023dmAB-23
	2023dmAB-24
	2023dmAB-25
	2023dmAB-26
	2023dmAB-27
	2023dmAB-28
	2023dmAB-29
	2023dmAB-30
	2023dmAB-31
	2023dmAB-32
	2023dmAB-33
	2023dmAB-34
	2023dmAB-35
	2023dmAB-36
	2023dmAB-37
	2023dmAB-38
	2023dmAB-39
	2023dmAB-40
	2023dmAB-41
	2023dmAB-42
	2023dmAB-43
	2023dmAB-44
	2023dmAB-45
	2023dmAB-46
	2023dmAB-47
	2023dmAB-48
	2023dmAB-49
	2023dmAB-50
	2023dmAB-51
	2023dmAB-52
	2023dmAB-53
	2023dmAB-54
	2023dmAB-55
	2023dmAB-56
	2023dmAB-57
	2023dmAB-58
	2023dmAB-59
	2023dmAB-60
	2023dmAB-61
	2023dmAB-62
	2023dmAB-63
	2023dmAB-64
	2023dmAB-65
	2023dmAB-1(內頁)
	2023dmAB(底)

